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- RIR—ER AT BRI A
-HE—ERNENESIE( R
‘MA, EXPMA, BBI, ...

PEbpie

ERTEBEATIE
SNEBHER. L, NERIRERERT
*MACD, SAR. ASI, DMI, ..

INA=]
N =73

EEKHKRNE, FUrMBusaIRRt:
HiER "EENSE ENES
OBV, VOL, VR, ..

ESNIHE

ERTRESHENTIE

TRMESEHESE, REIEBRIATRERLITR
-KDJ. RSI, CCI. WR, BOLL, .....
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108/

time open [ close : high loww volume

-7 2018-02-07 123 14.22 183 12.92 ne 14.3 3 12.76 [i32] 234571697

[F-"2018-02-08 (3 12.83 pEza] 12.54 123 12.92 (3 12.53 i38] 213781506

[F_¥ 2018-02-09 123 12.08 ne3 11.69 h23a 12.08 (23] 11.38 [32] 282494975

F=F2018-02-12 123 11.78 183 11.72 183 11.84 183 11.56 [i32] 122878244

F_"2018-02-13 he3a] 11.87 123] 11.94 i3] 12.21 (23] 11.84 i3] 129817869

F_"2018-02-14 heal 11.96 \ Dhel 120 | b2a] 12.03 M2l 11.76 li3e] 86419024
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FEARTT

1
MA10, = 10 Price;

k

1=k—-9

(k =10 N)

FOLAE (LS 3125 2 N D

| J
|

J

time
“_*2018-02-07
~_"2018-02-08

*."2018-02-09
~."2018-02-12
~."2018-02-13
"5 2018-02-14

close

123
123

nes
ne3

1292
12.54
11.69
11.72
1194
12.0

h 4 b4 h 4 h 4 l

“Moving” Average...

date

2018-02-05
2018-02-06
-7 2018-02-07
2018-02-08
-7 2018-02-09
2018-02-12
- 2018-02-13
-7 2018-02-14

mall

14.161...
14.096

135925...
13.758...
12522

13.319...
13.149...
12.943...

Bl [l l [l el [l ]
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A1) g 5 SR FEDE ?

Hil]zgln —  Python, Matlab / R, VBA (Excel)

e C#NET, C/C++_ Java

<

8 ‘:’ﬂ\

cATIES (BAfE. FAME. X 3.
« EasyLanguage/Z5C++/Pascal (MC, TB. TS)
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2 AeAas CBIMACD )

MMACDETE ZE Y DIF: -013 DEA:-0.04 |

-
-

T

n I-‘ . B | I]HHMHE UL SN,

DIF :EMA(CLOSE, SHORT)-EMA(CLOSE,LONG);
DEA:EMA(DIF,MID);

MACD: (DIF-DEA)*2,COLORSTICK; LIFONE BEREEE D2 [0
B/ S/ B/ # the data type of "close" is pd.Series
SR TR def calc_macd(close, long, short, mid):
LY I = = aae

diff = close.ewm(span=short).mean() \
- close.ewm(span=1long).mean()
dea = diff.ewm(span=mid).mean()
Python macd = (diff - dea) * 2
return (diff, dea, macd)
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| MC (Multicharts)
TB (TradeBlazer)
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KD-FEH1f8 %%

Close — min Low }
%K = 100 X n I
L max High — min Low ' {'
n n

I’Ll‘h"uh"]llﬂm'wk

l"‘ Wﬂ“ “ H‘l‘m
L { *l]@l
) :\I»““ﬂ“'“"?lﬂvﬂ' ]

(GEST) , SR 3
e fug i
RN ABIANIBIERK,

u . 1Sep Oct | Mow :
- FIUETG %H(?D’Sj }?E}:FEJ ﬁ'”overbougl i
(S FES AT |

%D = MA(%K, N) 1 |
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YIMAX(Close — LC,0)

RSI = 100
* Y. Close — LC|
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$NYA (MNYSE Composite Index) INDX

F1-Dec-2008 0 557000 HS57932 .54 L 566067 C S757.05 W 208 Chg +4Vesistance in

o | [ R

— £MY¥A (Daily) S7S7.05

W RIMM [(Daily) 73.36
— MA[200] FFEE.S4

—mAal1) 73.36

Bullish Failure Swing

1. Below 30 to become ove
2. Bounce abowe 30

3. Pullback holds abowe 30
j'l.‘{ 4. Break above prior high

|3upport in uptremnd |

\
\

downtrend

10000
- 9500
g=lelele
- 2500
- 2000
- FS00
- FO00
- BS00
- G000
- 5500

- 5000

Ny ke AN
iRl 11 JJ

eb 9 17 22 Mar

16| Jul Det 05 Apr Jul Oect 06 Apr Jul Dot OF Apr Jul

Oct 08 Apr Jul 0Oct

MRSI(10) 64.63 [breakout |

= h\ﬂ 'lhnunce _ | I P ——" A —h_ i )
—————— T N T
T
[below 30 [ labowe 30 |
e Ly B
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P22 X/ R AT X

IQM [Craily]

| 1 | 1
8 signal line crosses in six months | 1
1 1

— HD (Daily) 24,929
--EMAC10] 35,14
—EMA(S0) 33,12

Jyn : Jul
: I
I
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]‘;lk

/JEE‘ZIEI%%

Lt EBAY (Daily) 32.94
—_—a01]) 32,94

|higher high

S

RSl is based on closing prices. The
pink line shows closing prices.

o

1

|Iuwer low |

Aug 5-:ep D:ct Nl::m' Dn:ac znjna Feb Mar
MM RSI(1g) Foo=
bearish divergence I
™ f \P‘_\({’[\/v
S — o ﬂhww’f—\_/‘-"\q"ns\.‘k wﬂ,«h

|hulllsh divergence
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def detect divergences(self, pl, indl, ind2):
instances = []

# top diverged

= self.cross(ind2, indl) # FrAindl K Find2fTHS[E] &

barslast_dates = self.gen barslast_dates(anchors) # tH&EFi1 3B HIATIK F 5 61 J
barslast prices = pi[pd.Index(barslast dates)] # Jeidiplx o (Ui o T
barslast_prices.index = pl.index # FEATIK T BMNHESTE ZUH0 22 A7) (a] 8k 5 hil X 7%
barslast_indicators = indl1[pd.Index(barslast dates)] # FEHCATZCF %0 N[ ind1
barslast_indicators.index = pl.index # HEEIK N %A ind 1A 2 ET S (R ERSS XS 55

_______________________________________________________________________________________________________________________________________________________

top_diverged mask = anchors & \ # Tl & 21 F)H

1
1
1
1
1
1
3

(barslast prices.shift(1l) < barslast prices) & \
(barslast indicators.shift(1l) > barslast indicators)

_______________________________________________________________________________________________________________________________________________________

for tm in pl.index[top_diverged mask]: # ic.=% AT /il Ty 215

Jdio

instances.append({

"time": tm,
"signal": "top diverged",
“extra”: barslast_dates.shift(1).loc[tm] # #04hCc B AR5 R

}
R
BRI B A S T 5 e 2=
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FEIR vs. THZE vs. B

SPY [(Daily]

— EMR [Daily) 49,02
--EMA(S0] 43,99
— EMA200]) 44.09

-
—
-
- -

four bearish divergences that did not
work because the uptrend was stron

o
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002236 F-IEBS N '5.15 3047 3370 3.414{7, -1.08{7 3347 e = 7
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A:r. i ]

hgtazdy MACT [ _' R =4 Bl
Astimid eciEishes] SHORT 2.0
AstaeE [gma L T I R
IET AT BiES 0l GE109) '
Bzh

HE AT, AIES 4R ®S )

1 DIF:EMA (CLOSE, SHORT) —~EMA (CLCSE, LONG) ;
2 DEA:EMA (DIF,MID) ;
3 MACD: (DIF-DE&) %2,

SR
) SR

MACT! £ DIFFZ *imm .
: SHORT GEER) . mnﬁ[{zjw

é b AT ML

B

£0.00
80,00
£0. 00

DIF: 0.028 4+ DEA: 0.016 4

ﬂﬁ Lo
12.00 B

26.00
9.00

fifi B2
Azt it

'\‘H‘IIIIIIIIHW'

MR | saHER | AREE |
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— 4| & &

B hitps://v¢19.95358.com/

LI X

Pythonz %

AT K % % Python 1 %

B Python2.7 T #, .3k
https://www.python.org/downloads/release/python-2715/
T & A Windows x86-64 executable installer

B Pyecharts: s & 32 7 & 041 F 4 4~iT & @, & 47 pip install pyecharts --user

B Pandas: X %32 7 & 041 A 4447 & @, & 4% pip install pandas --user
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b b

AR

BRFR > 8&F Libdedn, 93 LAUT 4.

B -jukuan db.py # ¥ 4B K IR

B -jukuan macd config.py # macd4z 5 &0 d0 F A

B - jukuan macd signal.py # & I %05 A B A T 40
B -signal statistics.py # 12 7 vt

BT R AT SRS TS " I U2 5 PR
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KROFES > HAE%S > ANELARERNH

& strategy demo.py & 4X, 55 copy #| 4X, 55 4@ 4% B F
JUNE &6 53

B Z5 4085

B R Ei

B %47 A

B kG A% Gbark E
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- GoldCross

— DeathCross

it fhmacacacne, B R

d L § 8 — O ul l"‘“ ST A A AN

- MaxLimitDetect
- MinLimitDetect

- DivergenceType

- Divergence

- DivergenceDetect F 3

- TopDivergenceDetect mE B

- BottomDiver@encebPetect Eiiéﬁg?iﬂT

- Indicateor
= I”I“‘ A_iﬁuxah;

e
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(@staticmethod

def get max limit tm(serics, limit):
# Fiseries & 4 & i@ A 69 R K44 AR #F & 69 4t 1) .
AR e iEk, £t odfmsiclose TR SRR, H#FEclosetft & ¢hdif. macde. &1 [,
A T ARzt FAAE & 6 B AR, KA A Hlimits K o AR HAF % 6 WA S
BASNELABMA SN, BRESITALELEREG~NEABRMAL
‘param series: 4 4 7| # 4%, Series £ & ,
‘param limit: %47 B &) A ¢ 7K X 44
return: & K 44 & & i)

# PR AT AR R 69 AR &,
limits = series[series >= limit * LIMIT DETECT LIMIT FACTOR]

if not limits.empty:
tm = limits.index][-1]

return tm

R R A SRS T 31 1 e = P




S AT R E LA i sRITRRR R . TAEE: riEtlFs, arRFilFHs. BEE:

if not self.is walid by close_and dif(close[CLOSE], pre_clcse[CLOSE], dif[DIF], pre_

log.debug(

u' [3s, 3=s)] TBESTEFADIrg R HE

row.name, self.cross type,

-r

dif limit tm=%s, dif=%s, close limit tm=%=, close=%s, pre dif tm—%s;

dif.name, dif[DIF], close.name, close[CLOSE]

pre_dif.name, pre_dif[DIF], pre_close.name, pre close[CLOSE]))

continue

# ARRDIFAIDEAZYERTEEE: ERF T E AN M InacdETEER ).
1df = df[df.index <= dif.name] # diftR{ESZFEIEEE (EE8ditR{ES]
if not self.is_tangle_by_dea_and_dlf(macd, pre macd, 1df[MACD]):

log.debug(

u' [3s, 3=) 244, dif limit

row.name, self.cross type, dif.name, dif[DIF], ma;d.nama, macd [MACD] ,
pre_dif.name, pre_ dif[DIF], pre_macd.name, pre_macd[MACD]))

continue

P M EESEERER:

if not self.is valld b dlf max(ldf[DIF],

[2=, 2=)] EEAESE

log.debug (u’
row.name, self.cross_type,
continue

r‘

LR

dif.name,

dif

dif [DIF], pre dif[DIF]):

g sk, difiEEGIEE
dif[DIF]) :

r

tm=%s3, dif=%s, macd limit tm=%s, macd=%s,.Upké.dif-limit_ tm=%s, pre_dif=%s,

limit tmir¥s, Aif=%s, pre_dif limit_tm=%s, pre_dif=%s' $ (

dif[DIF], pre dif.name, pre dif[DIF]))

# DIFFI{TIERIZE, ELF —ITHEEEFEEEETE.

t A FZE: (oIriR{EFEEREREITE+HITEIREFBEIERIZEIT{E) > self.significance
significance = self.calc_significance_of divergence(dif, close, pre dif, pre_close)
if self.significance is not None and significance <= self.significance:

log.debug (
u' [%s, %=1 8 % o]

1 5,

ﬁﬂg#
Bl
i

row.name, self.cross_type,

continue

lf l1m1-

tm=%=, pre di

dlf.name, pre_dif.name, significance))

limit tm=%s, s=significance=%s' % (
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IN—4 B ROBLAART G, T HAE54a% L 4signals.csv
t#%signals.csv Z 4| #|resources/ 8 & T
& frpython chart.py

B | R, & 41 Frender.html
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